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CALCULO

EXERCICIOS 7.5

1. senx + jsen’x + C

3. sen x + In | cossec x — cotg x| + C

5.4—-I9 7. e -

9. ¥m3-%F Mih(x*-4x+5)+tg’'(x-2)+C
13. —fcos’t + 3 cos’t — jcos’t + C

15 x/V1—-x2+C

7 18&+C 2 (x+ Daragfx — Jx +C
BF B x+Fhn|x-4)-ilnjx+2|+C
2. x—In(l+e)+ C

2. xhx+ X -1)- X —-1+C

Msen'x—1—-x2+C
ﬁ.Zsen"(% +XZI,BT— —xi+C

35. tsendx + xsen8x + C 3. ;

39. In [secf — 1| — In|secl| + C

M. 6tgh —36° —In|sechd| + C M. g '(x¥) +C

8 i+ e + C

Q. I|x—1 =3x-1)"=3x-1)2=3x-1)*+C

ah\/4x+l—l +C 51._111\/4x2+l+l
Vaix+1+1 2x

1, 2 2
53. X cosh(mx) — mzxsmh(m.x) + - cosh(mx) + C

5. 2Iny/x — 2In(1 + VX ) + C

5. 3(x + " — jelx + V' + C

59. sen(sen x) — ;sen’(senx) + C

61. cossec 8 — cotg 6 + Coutg(6/2) + C

8. 2(x — 2Jx +2)e* +C

65. —tg'(cos™x)+ C 6L F(x+ 1) —x¥*]+C
6. v2 - 2/A/3 + In(2 + v/3) — In(1 + 42)

M e*—1In(l +e*)+C

7. —/T = x% + ;(arcsenx)* + C

7 iln|x— 2| =g hn(x* +4) — jtg7'(x/2) + C

V1+er +1
. — l+ l+ ]n_+
T 2x = QNTF e + 2l e+ C

79. jxsen’x + fcosx — jcos’x + C

8. 2JT +senx+C 83 xe* + C

+C



